Office of the Executive Engineer

December 11, 2015

Sealed percentage rate quotations are here by invited from the contractors enlisted with CPWD, MES, Railways and working contractors of Delhi University for the work of "**Repair and painting work in flat no. 1 & 5 type-II, block-I, SDC.**" so as to reach the office of undersigned on dated <u>18.12.2015</u> by 3.00P.M. the quotations will be opened on the same day at 3:30P.M.

SLNo	Description	Qty	Unit	Rate	Amount
1	Providing and fixing ISI marked flush door shutters conforming to IS : 2202 (Part I) non- decorative type, core of block board construction with frame of 1st class hard wood and well matched commercial 3 ply veneering with vertical grains or cross bands and face veneers on both faces of shutters :				
	35 mm thick including ISI marked Stainless Steel butt hinges with necessary screws				
		6	sqm	1684.75	10109.00
2	Extra for providing lipping with 2nd class teak wood battens 25 mm minimum depth on all edges of flush door shutters (over all area of door shutter to be measured).				
		6	sqm	348.45	2091.00
3	Providing and fixing fly proof galvanized M.S. wire gauge to windows and clerestory windows using wire gauge with average width of aperture 1.4 mm in both directions with wire of dia 0.63 mm all complete.				
	With 12 mm mild steel U beading	7	sqm	548.75	3841.00
4	Providing and fixing ISI marked oxidised M.S. sliding door bolts with nuts and screws etc. complete :				
	250x16 mm	5	each	154.60	773.00
5	Providing and fixing aluminium tower bolts, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS : 1868) transparent or dyed to required colour or shade, with necessary screws etc. complete :				
	200x10 mm	10	each	76.40	764.00

SC-

6	Providing and fixing aluminium handles, ISI				
0	marked, anodised (anodic coating not less				
	than grade AC 10 as per IS : 1868)				
	transparent or dyed to required colour or				
	shade, with necessary screws etc. complete				
	:				
	100 mm	10	each	52.80	528.00
7	Providing and fixing aluminium hanging floor				
	door stopper, ISI marked, anodised (anodic				
	coating not less than grade AC 10 as per IS : 1868) transparent or dyed to required				
	colour and shade, with necessary screws				
	etc. complete.				
	Twin rubber stopper	4	each	80.20	321.00
8	Repair of door/window steel or wood as per	-			
	the requirement with necessary fittings etc.				
	complete.	10	Nos.	350.00	3500.00
9	Distempering with oil bound washable				
	distemper of approved brand and				
	manufacture to give an even shade :				
	New work (two or more coats) over and including water thinnable priming coat with				
	cement primer	300	sqm	79.65	23895.00
10	Painting with synthetic enamel paint of	500	3411	10.00	20000.00
	approved brand and manufacture to give an				
	even shade :				
	Two or more coats on new work	160	sqm	63.05	10088.00
11	Providing and applying white cement based				
	putty of average thickness 1 mm, of				
	approved brand and manufacturer, over the plastered wall surface to prepare the surface				
	even and smooth complete.				
		200	sqm	85.40	17080.00
12	Repairs to plaster of thickness 12 mm to 20	200	June	00.40	17000.00
	mm in patches of area 2.5 sq. meters and				
	under, including cutting the patch in proper				
	shape, raking out joints and preparing and				
	plastering the surface of the walls complete,				
	including disposal of rubbish to the dumping ground within 50 metres lead :				
	ground within of metres lead .				
	With cement mortar 1:4 (1 cement : 4 fine				
	sand)	20	sqm	221.15	4423.00
13	Renewing glass panes, with putty and nails	_0	~~~		20.00
	wherever necessary including racking out				
	the old putty:				
	Float glass panes of thickness 4 mm	2	sqm	651.40	1303.00

14	Removing dry or oil bound distemper, water				
14	proofing cement paint and the like by				
	scrapping, sand papering and preparing the				
	surface smooth including necessary repairs				
	to scratches etc. complete.				
		300	sqm	9.00	2700.00
15	Repair of cistern by seplacing the flush pipe	000	oqiii	0.00	2700.00
	i/c cistern syphen etc. wherever required				
	etc. complete.	2	nos.	600.00	1200.00
16	Providing and fixing wash basin with C.I.				
	brackets, 15 mm C.P. brass pillar taps, 32				
	mm C.P. brass waste of standard pattern,				
	including painting of fittings and brackets,				
	cutting and making good the walls wherever				
	require :				
	White Vitreous China Flat back wash basin				
	size 550x 400 mm with single 15 mm C.P.				
	brass pillar tap	1	each	1699.95	1700.00
17	Providing and fixing Stainless Steel A ISI				
	304 (18/8) kitchen sink as per IS : 13983				
	with C.I. brackets and stainless steel plug 40				
	mm, including painting of fittings and				
	brackets, cutting and making good the walls				
	wherever required :				
	Kitchen sink without drain board				
	610x510 mm bowl depth 200 mm	1	each	4290.80	4291.00
18	Providing and fixing P.V.C. waste pipe for				
	sink or wash basin including P.V.C. waste				
	fittings complete.				
	Flexible pipe	-			
a	32 mm dia	2	each	72.55	145.00
b 10	40 mm dia	2	each	74.90	150.00
19	Providing and fixing C.P. brass bib cock of				
	approved quality conforming to IS:8931 :				
	15 mm nominal bore	2	each	458.40	917.00
20	Providing and fixing C.P. brass stop cock	۷.	Cacin		517.00
20	(concealed) of standard design and of				
	approved make conforming to IS:8931.				
	15 mm nominal bore	1	each	618.70	619.00
21	Providing and fixing C.P. brass angle valve				
	for basin mixer and geyser points of				
	approved quality conforming to IS:8931 a)				
	15 mm nominal bore				
	15mm nominal bore	2	each	506.70	1013.00

22	Taking out old damaged fiber sheet from the roof i/c cutting of MS flats and angle iron, p/f 2mm (avg.) thick fiber sheet of approved shed i/c welding new MS flats etc. complete in the existing steel balcony roofing complete cost includes scaffolding, Jula, sefty belt etc. Nothing sheet be paid for				
	extra hight.	8	mtr	2100.00	16800.00
	Total				108251.00

Conditions

1. The work is to be carried out as per CPWD specifications.

2. The time allowed to complete the work 25 days.

3. 1% water charges to be dedcuted from the bill.

4. The rate quoted should be inclusive of all taxes and duties & should be written both in words and figures.

5. The contractor should see the site before quoting the rate.

6. Undersigned reserves the right to reject any or all the quotations without assigning any reason thereof.

7. The contractors are required to submit a copy of Labour Licence Registration with EPFO, ESIC and BOCW Welfare Board.

Executive Engineer South Campus

I/we ______ hereby agree to execute the @_____% Above/Below/At Par the estimated cost.

Signature _			_
Name			
Address			_
			_

Telephone _____